i - iy . .
an j[?q IPC China Corporation
—— > I Postal code 523651, SanZhong JinQiao Industrial Park, Qing-Xi Town, DongGuan City, China
= — TEL: 86-769-8732-4567 (Rep.) FAX: 86-769-8206-6862 Email: sales@chinaipc.cc
)Pc CH|“A ROZBERFCCIEHD SN, T B 5 m R, 2 R R =5, RERIE
Quality 15t » Design st « Promise Alll items supported with Global 3 years warranty

G3380D
3U EnergySaving server chassis

LS
01) EFMBEA TV I NETRBREEERAD v—
02) 77 Y OEGNERTEE

03) BEEY—RMXZIITOYRMIIT 712 —XETHE
04) HDDIC B &Br < 74 o > AlBE

05) BEBETIZIZVLAEEAANANNYRIL

06) EAEATX12 "x9.6", FEEFUTOIH —R— RAHE

07) EERY— KM XZIIOEZ1.2.mm~2.0mm

08) H#ASECCAF—ILZ KA E—M&H%SGCC)

09) EVWRITEICTI/OR 7OV NERBT U AZAHE
10) Sunon 120mmx25mm®2ball 7 7 > A &%

11) 25dBART X & )-/ 4 A& (ABERED / 1 X &R E)
12) FEI#T 5 Rettt R REIFRIL

B

*HEERA A
54 2 Fx2 ENE3.51 2 Fx5 ((12"x9.6" ATX MBDIBE)
FWE51 > Fx3 EWE3.510 > Fx5 ((9.6"%9.6" MicroATX MBD 5 E)
HV K51 > Fx2 EWEE3.51 > Fx6 ((9.6"%9.6" MicroATX MBD54E)
FV 5L > Fx2 ERES.51C > Fx5 EREE2.54 > Fx2 ((9.6"%9.6" MicroATX MBDI5E)
*AVTUD I MLCDEBE, JATARENICEBASDH WFICUTICEDE, 77 NFEBNICEEE-EEBNICELTS
*AUTUD I NLCDEE, 38BCRTF7FIINNETHS A, BUOERRIRT 7> %230°C~60°CICHETED &
*AVTUD IV NLCDBE, SRR 77 UNBEL LIBE,. LCDICTHEBERRANRIRTE, SSILEEE (EERR 2HTEEEL)
*AVTUDIVMCDBE, F7FILNIERORTRTHEN, ERORRETED L CFREVERTERRTED)
*SECC 1.2mm~2.0mmEE 0 BBERSZEAL TREICRFEER > TRIZ Y FEH<
*RENEERETIIIZVAGERIAAHARNNY RIHFE
*HDDYT —2 OB Z B < #EEE R R ‘
*BYATHREOEEET7OCNRT, RFOEBECIT774IILEZ—6XMAEE . 702 MREJLICUSB2.0R—k x2 Y MDA EFE
* L WRE L =& BEF Sunon EEC0251B1-000C-G99 120mmx25mm 27R—)LRT U5 77 12 $1E
* T T UNRBEHRERT F45dBA, BER T 7 2 IC10cmiEBETHIS D E70dBA CREBRZT S D)
* SIEMB: ATX(12"%9.6"), MicroATX(9.6"x9.6"), Mini-ITX(6.7"x6.7") Y #'—R— R
* S ER: BEPS2080mm & 120mm~140mm7 7 > ON—2 3V OEREEHTE 2 (BEROKARITH140mm~200mm)
* BAT140mmOPS2BIRZ HH T % & R ARIT220mmD5.25" ODDEER S TE %
* BIT180mMmOPS2ERZ R E T 5 L {HARIT170mmD5.25" ODDEERIETE %
* BAT174mm®OSureStarORASEEPS2I Z A VA Y NERZHER T 5 EBRARITIB0MMN5.251 >~ FRBEN WIS TE S
* B47185mm®MEnhance PENROSOOEFEPS2E Z YA VA Y NEREZHEE T 5 & HARIT165mmD5.2514 > FREBHARSTED
* B47185mm®MZippy MRT/MRWRIEPS2E ZUA VA > NEBREHRR T 5 £ FART165mmD5.2514 > FEBA S TE S
* BT190mmMEtasis EFRP-2402/2462/S2502 L EPS2X Z VA A Y NERZHH T 5 £ BIT160mmD5.251 > FREHNTH
* BRAT199mMm D SureStarORABHEEPS2I — VA VA NBRZER T 2 & BARIT155mmD5.251 > FEBN WIS TES
* B17200mm®Zippy MRGEEPS2EZ YA VA Y NEREHEE T2 L HARITI55mmD5.254 > FEBHAWETES
TN —DHWBIRTHARBD VA VAV NERERYFFREER. v —JBEN5254 2 F RIA T ORTICHEES LSV
*3.5" HDDZ 4B R B35S (C4 slot BERE DILRA— RAWETE S (H— ROFZFART170mm)
*3.5" HDDDAE O F D2{EZ EH L & VB E (TR — RO B ARITAIB0OMMIMETE B
CREZRE ARG, SRENEOELCVEELBERE
*REI#RT S Rt AREIFRIL (EBOBRP T 7O BEELEHR)
* v = A E: 19" x 3U x 380mm (14.96")
* 4B P f@: #6 round head screw x36, #6 countersunk head screw x8, M3 countersunk head screw x16, M3 truss

head screw x12, #6 to #6 metal 7mm high MB stand-off x2, 12mm high plastic MB stand-off x1, key x2
* M EFEHE: NW 7.0 KGM, GW 9.0 KGM, 2.22 CUFT (H— k> # o X: 560x510x220mm)
HE, A, 24, BE, BAR, KB, ZE, BMNES (EU)., O TOEBIRBEEXAS v -2 EFEZES
HE B R
v —RFE L BA: G3380D 3U EnergySaving server chassis
A7 aVBEERBA1 BEPS2080mmME 120mm~140mm7 7 > O/N—2 3 OBRELBTE (BROHKFAEITA 140mm~200mm)
F7aBE L RBA-2: SureStar R4S 1) —X 400W/500W PS2 Mini Redundant BiR (BJR ) 8{TAH174mm)
#7238 EFE RBA-3: Enhance ENR0500 2 ') — X 400W/500W/600W PS2 Mini Redundant EjR (iR 0B 1T A 185mm)
A7 a3 HEEREA4 Zippy MRT/MRW 2 1) —X 300W~600W PS2 Mini Redundant &R (BJR 0817 A" 185mm)
A7 3 BEEE RHBAS: Etasis EFRP-2402 400W & EFRP-2462 460W & EFRP-S2502 500W Mini Redundant &R (R 0 84T 4"190mm)
F7> a3 BEE REA6: SureStar R4B > 1) —X 600W/700W/800W PS2 Mini Redundant TR (BIR 0 81T 4"199mm)
F72a BEERBAT: Zippy MRG 2 1) —X 500W~800W PS2 Mini Redundant &R (&R 0 817 A 200mm)
F72 a2 HEERBB-1: (NJ-600) ZER600mmAARAZT A KL—JL, Fv¥EZY NHIPRTE600mm~1200mmO A EX, AEEESKG (CHEEOENHNI1RT)
A7 3 BELE FEB-2: (1234U-RMK) 1234U chassisD#% 2 LBV T2 FAEE (CORBEOE[LANIRT)
A7 3 BEEERBC: (SUNONB025) Sunon 60mmx25mm 2R—)LRFT U Y 77 /(COREQENMHNF1E. BANXLOLBICH AT 720/ FEHTE)
A7 a3V BEERED: (25-35-BK) SH#AE2.5" HDDE3.5" HDDE]RT F7 ¥ N
A7 a BELRBE-1: (2525TO3HDBK) 28 105.25"X A I T3ED3.5"HDDEE &8
A7 a3 BEEERBE-2: (3525TO5HDBK) 3 ND5.25"X A IZ T5ED3.5"HDDEE & &
A7 a BEERBE-3: (N-47SS) 1x5.25"R A I24x2.5"K Y NAD Y 7 12GENANZ YV ED 21—
A7 a BELERBE-4: (N-87SS) 2x5.25"R A IZ8x2.5"K Y NAD Y 7 12GENANT YV EZ 21—
A7 a BEELRBE-5 (N-127SS) 3x5.25"R A (C12x2.5"K Y NAD Y T 12GENALAT YV EP 21—
A7 3V HEERBE-6: (SS-46TM) 1x5.25"X A [Z4x2.5"KY NAD Y 7 ENAINZ Y U EZ 21—
FA7>a BEE RBE-7: (SS-88TM) 1x5.25"X A IZ8x2.5"KY NADY 7 ENAINZY Y ED 21—
FA72 a2 BEE RBE-8: (SS-86TM) 2x5.25"X A IZ8x2.5"KY NADY 7 ENAINZY Y ED 21—
FA7>a BEERBE-O: (SS-126TM) 3x5.25"X A [212x2.5"KY RAD YT ENAILZY U ED1—)
F72a BEERBZE-10: (S-36TM) 2x5.25"X A IZ3x3.5"KY NRADY T ENANZY Y ED 21—
A7 3V BEERBE-11: (S-46TM) 3x5.25"X { IZ4x3.5"KY NADY 7 ENAINS YU EZ 21—
A7 3 BEERBE-12: (S-56TM) 3x5.25"X A IZ5x3.5"KY NADY 7 ENAINF YU EZPa1—)L
A7 a3 HELRBE-13: (S-36TL) 2x5.25"X 1 I23x3.5"TrayLess K Y NATY 7 ENALZ YV TP 21—
A7 3 BE L RBE-14: (S-46TL) 3x5.25"X 1 |24x3.5"TrayLess K Y NATY T ENALNZ Y2 TP 21—
FA7a BE L RBE-15: (S-56TL) 3x5.25"X A IZ5x3.5"TrayLess KRY NRADY 7T ENAILZY U ED 21—
F72a BEE RBE-16: (S-16TL) 1x5.25"X 1 (Z1x3.5"TrayLess 1KY RAD YT ENAILTY U EZ 21—
A7 a3 BELRBET: (S-16TM) 1x5.25"R A IZ1x3.5" K Y NAT Y7 EDa1—)L
F7°3 a2 HEERBF-1: (2U2011A-8080) 2U Intel LGA2011 active CPU cooler Square
F7>a BEERBF-2: (2U2011A-5694) 2U Intel LGA2011 active CPU cooler Narrow

B EFB: 2017506 519H

IPC China Corporation Copyright reserved©mWithout{official documentfauthorized§anylcommercial behaviors including design andjphotolarelprohibited.
HETEERARER). XEABHESE RN(HE) MO E AL EELHBENIER , T ENBHHRELE SEMELITA(ERmRIT. B, AEEESZ)
Mo SRR RN WG EEERE (HROFRF. BE, ARFAKELED) ’&{E?‘Clzt;—ﬁmém'cf&swi'g‘o




